3.7.1 Connecting Formulae (Spring 2015)-s16.notebook April 01, 2016

Before we begin, are there any questions from last day's work?

2 (we'll do) 2 (already done) 3 (we'll do) 3 (already done) 4 (we'll do) 4 (already done)
Today's Learning Goal(s):

By the end of the class, | will be able to:
a) rearrange a formula for a specified variable
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3.7.1 Connecting Formulae Date: Ap‘ , ‘! / Zé

1 . . o . .
Ex.1 The formula d = v+ ?at‘ relates the distance, &, travelled by an object toits initial velocity, v, d_ . M
acceleration, ¢, and the elapsed time, 7.

Determine the acceleration of a dragster that travels 300 m from rest in 15 s, by firstisolating a, ([ o m /S
and then by first substituting known values. Compare and evaluate the two methods.

Solutions

a:mls/s
Method 1: Isolatex first.

Method 2: Substitute first.

a
d:v0t+%al2 aV:vOlJr%at2 =wm /5
1 , d=500m, t=15s, v,=0m/s
d-vt=—at
2 ~ 1 . g
2(d—vyt)=ar® 500=(0)(15)+5a(15) '6 .
2(d—vt) _ 500=1 a(225)
— 2 —4a 2 \
t2(dfvt) 500=112.5 >(000 s VA
.“a:TO &:a
d=500m, t=15s, v,=0m/s 112.5 ) wg il /)
~2((500)-(0)(15)) a=444m/s 3 M
Ty
1000
= s 3.7.2 1-14,1-18
=444 m/s’

3.7.3 2c¢.d.f, 3a,b,c

(Continue to work ahead on Review 3.9.1)
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Return [ lo
30 o
2Afm eeds to enclos tgl 'gsomff cing. W | Encloswe a0 B
fth sides fth 1 tth bar i
Ifth of the 300m d t ermine the dm of the enclos S

u/me Aongf W‘M/h;w@
f}c- y/w,; Df—(u) S50 /
s by W= FEEIO

300'—‘/(5'0 -g[\ Al Wi 5-50;&(/0)
300 = Sod-30 3 ‘ﬂ— ~
/3300 1300=0 it L= 15 m

g
Q/fa—gsﬂr/%):a o Wj% R)t{w

X - 1) H-S)=0O =0
‘f=10 ot X=(S
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3. The function, h = t4 - 2t3 - t + 2, models the path of a gull try ng to catch fish,
where h represents the gull s height abov th e water in metres and t represents the time in seconds.
a) At what height is the seagull when it first sees the fis h‘7
b) When does the seagu ll hit the water?
¢) At what time does the seagull leave the water with the fish in its beak?

D b= Coftery N
o, b )s f
HS 0l Gy 3 e abave P Loden, [ /

lo) when h=0 or fA I,(H:O \U
0=¢ L(“Qfs‘f‘bx N

~CH-2) 1) AN

u
= LF870141 W= 1235'125

['4/{4 Hfbfﬁg,, ot 134 ém( L(IW#\!ML’\
Q%C)
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4. Melissa is running a ski trip during the exam break. Return
The bus holds 40 students and if she charges $250 per student the bus will be filled.
For every $25 increase in the price she charges students, two fewer students will go on the trip.

a) Write an equation to model @ Melissa’s revenue 0
b) Determine the maximum revenue " VM 4 ’ZY Md 30
-0 S0

¢) How many students need to go on the trip for Melissa to earn $8800?
5

%) Pe ot = P Nwrber o’ Strdafs

:P /60—0.0&'o> \3

- GOP -0 O&F& [{0_9\ (%56)

= (1w [<
_ - 100
T
S (o) I

%o, a0 sso'_-
Q(-Y) 0 5 K0
T R3S R
My 0w Wi o= 375

R -

—-0.08(717) Ho (599

0. Oxpa\éof +R800= 9

0~08/@9-2>‘0¢ J10 000 )= 0

0.08 (p = a00 )/(95?0)10
SpP=0 0 2 p<=3D

5400 3 80°
mwi% Ty

= Y _’—((O(W wudl e o b Fp

April 01, 2016



3.7.1 Connecting Formulae (Spring 2015)-s16.notebook April 01, 2016

4. Melissa is running a ski trip during the exam break. Return
The bus holds 40 students and if she charges $250 per student the bus will be filled.
For every $25 increase in the price she charges students, two fewer students will go on the trip.
a) Write an equation to model the Melissa’s revenue.
b) Determine the maximum revenue.
¢) How many students need to go on the trip for Melissa to earn $8800?

at) Reuvenue= price x Number {-ﬁ*(k.gls

:09( '0,03P+60) M Em—o

=-0.084" rop 2
AR = —0.02433 F60p
= ‘”'OZP(‘O-7-S0>

ARG S T
P=o R - -,%FJ(Q,O

/\’:‘é ; -
oa ST ’A 0.02‘,0-/-50
1
P*‘g;}

the max. revenue would occur when ticket price is set at $375
(the max. revenue would be $11250, from 30 tickets being sold. 11250+375=30)

1=~ 0BRT+E0

W=EFE V=iizE0 Y,

C) g&oa =" 0-02033 > 60/9

O.OKPa —éop }8Loo = 0O
0.08/’0{ Wop 1 11000 )< O

0.08(p- 5'50) (‘o/;ozﬂ: O

f Yo o /3 =00
to earn a revenue of $8800, ticket price must be set at $550
(resulting in only 16 tickets being sold  8800+550=16) |vz=8Euo

or the ticket price must be set at $200

(resulting in 44 tickets needing to be sold  8800+200=44) /

[What is the problem with this idea?] »
Melissa is best off setting the price at $375
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